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SECTION -1
gug -1
CHILD DEVELOPMENT AND PEDAGOGY
are-fawra wa fireror fafiat
There are 30 questions in all in this section.
All questions are compulsory.
79 @IS § FeA 30 ¥ ¢ |
[t W At €1

1:  "Human development goes on for a lifetime, although two people are not equal,

but the order of development remains same in normal children.” Which principle
of development does this statement point to ?

(A) = Principle of continudus development

(B) Principle of interrelationship

(C) Principle of uniform pattern

(D). Principle of general to specific responses

'mﬁﬁmwwwmm%ﬂwmﬁm%mﬁ@aﬁaﬂtm
(A e o w fAEE By TER ey w1 R
"(0) - §HM wiey @ fagid D) W ¥ fafere srfwae w1 faei

2. Which is the final stage of cognitive development according to Jean Piaget ?

(A)  Sensori motor stage (B)  Formal operational stage

(C) Post-operational stage | (D| Concrete operational stage
S fyat & AR WA (e @ S sreren H-E 2

(A) Hafge TEiid ST @) T dfhATeeE STere

(C) I HishaTeHeE e (D) T AT e

3. The Father of Genetics is

(B) Thomas Hunt Morgan

(A) Gregor Mendel
(D)  Charles Darwin

(C) James Watson
STEreTeRT & ST 3
(a TR A (B) 9MH < A
() o AgEd | (D) Y Sife

oaczo | [N "-® (444 \ PT.0.
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4. Who propounded the Psychoanalytical theory of Personality ?

(A)  Abraham Maslow (B)  Sigmund Freud
(C)  Carl Rogers ' . (D) Jean Piaget
S B FAaee e fagt e st B ¥ 2
(A) ST A - wr fomve wag
(C) et ot (D) ¥ fuas
5. A 10year old child has mental age of 12, then what would be his 1.Q. ?
(A) 100 (B) 90
(€ 120 (D) 110 . | |
T 10 AW STefeh Y AR g 12 & @ S ffg-ofer gt 12
(A). 100 (B) 90 |
€ 120 | (D) 110

6. The theory of learning prdposed by Albert Bandura is
(A)  Classical conditioning theory
(B) Cognitive theory |
(C) Insight learning
(D) Social leammg thcory

A TG BRI WA S @ g &

(A)  wTEE 343?4‘%1:!' g (B) HIFTHS fagra

() Iighe afurm ) Wi fam fagr
7 How many personality factors are proposed by Raymond Cattell ?

(A) 05 (B) 14

(C) 16 (D) 08

Mg e N e =Afee #Re st fmd m & )

(A) 05 (B) 14

oac3o |1 N1NIII 1@ 344
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Which of the following is not included in Maslow's hierarchy of needs ?

8.
(A) Physiological nceds
(B) Individualism and collectivism '
(C) Love and belonging
(D) Self actualization
ﬁmﬁ@ﬁw-mmaﬁmmaﬁ%mwﬁn&fmwﬁ% ?
) e FERERAl @)  AHER T FEAS
(C) & TaH wrEgdl D) oTHrE
9. - Two opposing desires present in an individuél at the same time is called
(A) Contflict (B). Frustration
(C) Anxiety (D)  Pressure
@wﬁﬁﬁwmwﬁﬁqﬁﬁmﬁwmm%
@ T _(B) Fal
(¢ e D) S
10. Which of the following researches is associated with Stephen Corey ?

(A)- Basic research (B) Behavioural research

(C) Scientific research (D)  Action research

e e o TR R Y e & 2
A)  STHRNE MR . (B) SRR SE
A7 STTEUH @ e SrEEr

(C)
11. Which of the
differences ?

(A)  Heritability
(C) Parent-child relationship (D)  Physical health

(B) Innate temperément

following is not a biological factor determining individual

amafmaﬁﬁuiﬁamﬁﬁnﬁammﬁmmqﬁ%;

NI EREED (B)  STHISIIA @

() afamas-arcrs @ (D) YRR @

T I =

1-®@ P.T.O.
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12.  The cause of Down's syndrome is

(A)  Trisomy-20 (B)  Trisomy-21
(C)  XXY chromosome (D)  Trisomy-22
SIS HETT HT HROT §
(A)  FrprEEr-20 B) FrEREr-21
@ XXY o 47 FrpopET-22
13.  The concept of reliability refers to
(A)  Objectivity of instructions (B) ~ Purpose of measurement
(C) Consistency of scores (D)  Uniformity of scoring
ferergaar =t sreuroT ¥ s &
() TR #t afrsar . (B) A F R
(C) TRl =l ST ©) TUHT S T
14.  Which of the following is not an example of projective test ?
(A) TAT (B) SCT
(C) Draw.a Man (D) MMPI
frfeife 5 @ SiF-51 e o F1 [T TE & 2
A Awd B TWHA
© FTH . (D) TH T a1
15. Who propounded the theory of multiple intelligence ?
(A) Howard Gardner (B) Jean Piaget
(C) David Weschler (D)  Erik Erikson

ag-qfg @1 fagr e wfaafea femar 2
4 TS TR B) ¥ fram
P T o) ok

oas3o [N 44
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16. Remedial teaching is used for which kind of children ?

(A) Fastlearners = (B)  Slow learners

(C)  Gifted children | (D)  Creative learners
STARTeT RTerT iy werme & arerent & fordt g @ & 2

@) st & dre T @) W e T

(C) SfaTremeht TreTe (D) TS § dhae ar

17. Playway method of teaching is based on
(A) Theories of methods of teaching
(B)  Principle of growth and development
(C)  Sociological principle of teaching
(D) Physical education programme

Paeror = e ffir ey ferarr o o .2
(A) ﬁmwaﬁﬁfﬁﬂ‘réiﬁmm

B) e ¥R fawma &1 famr

£) ﬁrma;rmmmsf\um

() Wi R wEwn

18. Who was the Chairman of National Steering Committee on NCF, 2005 ?

(A) Prof. Kothari ; (B) Prof. Mehrotra
(C) Prof. Yashpal \ (D)  Prof. Ram Murti
. . TF., 2005 F UL feeaftn wfHfa & sveme A 4
(A) I HIBRY (B) . HEET
() . g e (D) W I ygfa -
19.  RTE Act, 2009 is for the children of which age group ?
(A) 5-12 (B) 12-18
(C 7-15 (D) 6-14
A2 3. sfufram, 2009 fFE 91 T & Tl & ol & 2
(A) 5-12 (B) 12-18
(C) 7-15 (D 6-14

9430 |11 aa4a] P.T.0,




20.

21.

22.

23.

94639 [l 444
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Which of the foﬁowing is not a physiological motive ?
(A)  Achievement (B)  Hunger
- (C)  Thirst (D)  Sleep

Freferfen o ¥ w-a dfe aboRes @ § 2

) 39y : (B) @

© @ | (o) R

According to NCF 2005, thé¢ main goal of Mathematics educatmn is
(A)  Training of teachers

(B) Classroom learning

(C) Mathematisation of Child's thinking

(D)  Course content of Mathematics

U410, 2005%53133411 ﬂjmaﬁmmmam%
(a)  Terernt = wlymeor

(B) T e
(€] wTeTh o fawa r Tiftreientor
(D) T =Bt ferererery

Learning through reward and punishment is related to which theory of
learning ?

(A) Social learning (B)  Operant conditioning

(C) Classical conditioning (D) Cognitive theory

TR Tt Ve & A & e s & e fagr @ wrin &
(A) IR HrE ®  Frm srE

(C) WIEHg ey (D) ¥ fagra

Which of the following is not a process related to learning during childhood ?
(A) Past experience (B)  Reflection

(C) Imagination (D) Argument
ﬁqﬁf@anumzﬁmm%ﬁmﬁ@ﬁﬁwﬁmaﬁ% ?
(4 T I B)  widfdas

(c) T (D)
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24. Which tests are designed to measurce the effects of a specific programme or
training ?
(A)  Personality (B) Intelligence
(C)  Achievement (D)  Creativity
Mﬁﬁammm%mmmm&mmmmqﬁmm
oftefead fomar simm & 7
(A et B) 9
(C) Suwed (D)  TEIH
25. At which stage of development an individual faces the problem of vocational
adjustment ?
(A) Old age (B)  Adolescence
(C) Childhood , (D) Infancy _
T = R sraen § U S ST WA S G A el © 2
(A) g (B) femeREE
(C) aTeamEe D) foryy e
26. The psychological basis of teaching-learning depends on
(A) Teaching style ~ (B) Course content
(C) Language (D) Socio-ec.onomic status
RTEUT- ST T HATSTRE YR e o FiR sar § 2
)  aremad Yl - (B fawmag
() (D)  WHTISeR- 3T TR
27. According to RTE Act, 2009, the Pupil-Teacher ratio for primary schools
should be .
(A, 251 (B) 35:1
(C) 40:1 (D) 30:1

sasao. LI =
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IRAZ. afufrm, 2009 & AR e faenerdt 3 ferd feremedt-srmes
(},) 25:1 B) 35:1
@ " 40:1 : (D) 30:1
28. 'Midterm Exam' is an example of
(A)  Creative Assessment
(B) Norm-referenced Assessment

(C) Summative Assessment

(D) Diagnostic Assessment
(A) TIATCHE AR &1 (B) m-dgﬁqaaw‘mm
(©) e e 4B) i T

2. Which disease is hereditary ? |

(A) ADHD (B)  Phenylkitonuria
(C) Parkinson's . (D) HIV-AIDS

i T a'snarm% ? |
) uITEE B e
(C) URfHw4 | (D) A3 &.-ugd

30. Which of the following is a performance test of intelligence ?

(A) Bhatia Battery . (B)  Rorschach test
(C) WAIS (D)  Raven's SPM
f=fafaa § @ SE-91 g a1 R oo &

AA) i a2 (B) et ey
(C) THUAETE. (D) Y& & wa.dam,

aas3o |1 444 bl
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31.

32.

33.

34.

wusg - Il
7T - 1

fe=t
T @UE ¥ el 30 WA ¢ |
vt W e € |

frfetfEe Terier & SR W e we 31 ¥ 34 @ % IR QMT

framareht qow @ it @ e v T A | I Hed § wE T @
& a9 @A €, W R |amq%umﬁalﬁlm$ﬁaﬁ?3ﬁmﬁ$m
T T TR § 1wy, i ok g Tl S @l &1 I R €
3R T3 e, Ry s & g @@l # UE @ e ¢, § I6H AW g
AR IHR B T T S F o sTa @ £ R wem % wad A
W ! F T I T e @ & | e g8 Sl e, P § &@d
T TEU T F AW A ¥ | e e H e Ren w1 w2 R w e
Meq | '

‘fogm ' 1 ST & | . .

() wfest m  foget

(C) (D)  fergst
Ushaa, Tga9 FT Gl TH

(A) ¥ - [T B)  IEE - TEh

(©) et - e ) (D) T - HAfgem

‘Fad’ Y15 1 TEl I § .

(A) HIH (B) - ATped |

(@ TaR (D) Sftsmt - .

‘T-a3 e W o W e w1 gEME S & fou soe w ¥ g |
FA-THAE 2 ' |
(A) WEMG AT (B) WM oS FHeA
(C) HHEH TAHH HeA (D W TAHH e
Fefefas T % YR T 9¥ HE 35 ¥ 39 T & I fefEy ¢

qd, g iRk I s S % o fRg e s ok e @ am @
¥ 1 %y @ AR i gedl @ gt | dER A Ry fafauer @, aa aTm- ot
&1 Q e F quiar H SR o e fofay wnt & @ ot I fafavar fard
Y | s 1 @wE ¢ {6 9% 0 faanl #R A & AR A @ qur e S

sa630 | [ENILITIN 444 P.T.0.
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39.
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42.
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R WA A A § e e e Sl o e i S F;
T T W A v ) S R g 9 wwedr € @t @ 39 e |
T ot a7 siv-stadedt A oft R W wwem wd & A w edae e f,
ARSI R G & N sy ) gt st S wt &

W' IR UG & ,

(A) 9 B) el

€ ®) TL

I @ faem

) ¥\ - B owm

(€ 3= - © (D) IH _
‘A fed % forg R e @l et & forw o v
(/) TIYER (B)

€ @ | . (D) ﬂ
‘fogy’ wi=g # 3qat & : 3

A fa (B) @

er fog ' (D) - &
‘T’ I H GHIY @ YRR ¥

(6 et S B T

(C) = dgsitfe (D) R
TRTE o WA § & e a1 9El faehed g

(A) GO & a3 W |

(B) €% FW H IH 0 Fo oM |

(€r 3IH WIE @d &% @i & fou eer-diet 2l @ o
(D) IR FA TS T T IYH! A6 FH T |

fe=dt wor & A & T AR
Aa) = | B) U=
() ¥R 4P T

G I AT @, 3R WS Tan’ i & ge o &
A)  FeA 4 T =t s @

(B) @M W@ & THAM FdEl

(C) 39U TE D Al FR &

(By— &ac U Pl A6 a1 ol IW EgR o T oA
‘wiueR | fea @iy wwEm g 2

() Fig i B T wfy

(©) Fuldiy (D)  37afg <ifyy

oasas |
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4a, ‘TR TV & fiE S ol oy it @ @ frert e S o 1" W A1 €
(A) SRS B) My = |
_ €] WI® q : (D) EURYT A
as. ﬁ,ﬁﬁ_ﬂ@_ﬂfﬁ'mﬁa%mwwmmw&%?
(A)  ferETES AB) SEOTEESH ' '
(o WEEm (D) IEEEE
46.?Hmﬁmqaa;ﬁqﬁﬁ@gﬁﬂme$rmﬁ.%
(a) T T | (B) &g WU
() EHHYRT §HN (D) Sgsiie ITH
47, So <3 TERT TR F A o e # it v A freeor €
(A) - GRHETETES B) wAfeaE®
) Whaaras® ‘ O TEEE
48. ﬁmﬁf@ﬁﬁ@‘m%mmmmﬂﬁa%
A) i - |
e - - o) | ") :
49.mﬁmmmmﬁ%ﬁwm,“@ﬂ@mﬁmwm,aﬁt
T U F A ; a
oy e (B)
(© | ) e o
50, mmﬁzﬂmmﬁa‘&mﬁm'mwm e
(A) sfepre firsar 9 o o | '
(B) m@mmﬁmﬁi
) %W@WWWI
(D) @ﬁ%ﬂmﬁﬁj&ﬂﬁl
51 Frefefiad 4 @ #A-a dE B A E 2
) 7 A B T
) (B)  STRET
52, izl sifera A €
" Wmm (B) ¥eA-gd it At
ey e s A D) ¥ & wt
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W, IR TE AT w6 e e foeor & a3 o2

(A)  DRES Ry (B) GIrIHE Ivd
(C) THoTE Iy D)  THHE YT

R wameUg, S A1 e W awRi B fera 3 ¥ oiR o B ween ¢ F e
H G I A @ 3@ R R A | g
(A) IR oy (B)  argeRur fafi
(©) ey fafy ) & e fafy

m T e, fawmqma W@%Wﬁqﬁmmﬁm
?

(A) TR WRH (B) FeEuTs wvA

©r THTS T (D) Tl

wrEr-Rreer sonedt % e yonel i foge w9 F g st oft w2
(a) e s (B) * FEATHI T

€] TST-TH Jurelt (D) 3T WoTeR -

T foreor et  'sistee weft' & =me w87 feaR § 0

+A) TG 3R feRerdiees @i B) Ria iR fadw =i

(C) FAAECHURL A, (D) T awEs
ﬁmﬁmaﬁﬁawaﬁammmﬁqnmmﬁﬁmﬁm

mﬁmﬁmmlw@mﬁmﬁﬁm T UR 3
% U F T ® o o1 wA e | W T A

34T HIT WIS HA | R € ?

(A) R @ (B) eI &

() ETEEH (D) e &

UIeT-JEeh & 3L & Sfeia Uew-qeh R ar At & for &

(A) W T A TEAE | B) qwh feren @ fenelt & fo ang ¥

(C) AT & WA UH WA E | (D) N W W 31 §
qmrﬁmvmmrmqmm%

o e " s

(C) TWUZ (D) WRe
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SECTION - 11
LANGUAGE -1
ENGLISH
There are 30 questions in all in this section.

All questions are compulsory.

Passage ( For Q.'Nos. 31-34 ) :

We all use roads. We walk on them or drive our vehicles on them. We go ac
or walk on the pavements along them. In cities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians. It is safe to use footpaths if

we are walking.

ross them

Roads in big cities are very busy. They are crowded with all kinds of vehicles like

buses, trucks, cars, three wheelers, motor cycles, scooters, bicycles etc. Slow moving

bullock carts, horse carriages, etc. can also be seen there. Walking and driving on

such roads is always very risky. People in a hurry ignore the rules of the road and
cause accidents. A lot of people die or get injured in such accidents everyday. The best

way to avoid accidents is to obey the rules of the road.

31. The synonym of ‘pavement’ is

(A) Road (B) Traffic
(C) Footway (D) Walk
32. The antonym of ‘fausy' is
(B) idle

(A) occupied

(C) tired
Find out the word from the passage that means,

(D) freedom

33. “The people who walk on a

pévcment”.
(A) Bullock carts
(C) Pedestrians
34. The verb form of the noun ‘driving’ is

(B) Horse carriages

(D) Vehicles

(A) drive (B) undrive
(C) driver (D) none of these
35 Which of the following words is correctly spelt ?

(A) Vaccum (B) Vaccuum

(C) Vaacum

sc3g [[IIITILIII

(D) Vacuum

_— I T TNYRYOR

444 P.T.O.
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Passage ( Q. Nos. 36-40 ) :

The folk dances of Rajasthan are inviting and engaging. They are bound to induce you
to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own significance and
style. They are attractive and skilful. They are enjoyed by every age group. The people
of Rajasthan love their folk dances,

36. The words ‘inviting’ and ‘engaging’ are

(A) Nouns (B) Adverbs
(C) Adjectives (D) Pronouns
37. The sentence, The people of Rajasthan love their folk dances” is in the
(A) Simple present tense - (B) Present perfect tense
(C) Simple past tense (D) Past perfect tense
38. The word ‘Rajasthan’is a/an
(A) Common noun (B) Proper.noun
(C) Collective noun ‘ (D) Abstract noun

39. Which one of the following sequences has the three degrees of the adjectives in
their correct form ?

(A) Lively, more lively, most liveliest
(B) Lively, livelier, liveliest
(C) Lively, more livelier, most lively
(D) Lively, more lively, liveliestly
40. Which of the following phrases has a determiner in it ?

(A) Customs and traditions (B) Colourful and lively
(C) Attractive and skilful (D) The folk dances
41. The study of speech sounds is called
“(A) Morphology . (B) Etymology
(C) Phonology . (D) Chronology
42, The phonetic symbol for the underlined Sound in the word ‘shy’ is
) | | B) s
© ¢l (D) ds
43, Choose the correct phonetic transcription of the word ‘boy’ :
(A) /b3l/ (B) /bd1/
() /bal/ (D) /bol/

oacao [N - 44
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44,

45.

46.

47.
48.

49,
50.

S1.
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J

“The peon opened the gate.” The correct passive transformation of the scntence
will be

(A) The gate will be opened by the peon

(B) The gate was opened by the peon

(C) The gate is opened by the peon

(D) The gate has been opened by the peon

Which question form is correct in its structure ?

(A) Do you go to college yesterday ?

(B) Does you go to college yesterday ?

(C) Did you go to college yesterday ?

(D) Did you go yesterday college ?

Which of the following is not a principle of language teaching ?

(A) Principle of naturalness (B) Practice and drill

(C) Learning by doing (D) Copying and pasting
Multi-line approach consists of

(A) use of models

(B) reaching the same target from different directions and means
(C) selection and gradation

(D) all of these
Which of the following is true about the Grammar-cum-Translation method ?

(A) Mother tongué is used while teaching

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these

Which method is also known as the natural me
second language ? .

(A) Substitution method

(C) Grammar-T ranslation method
Which of the following English teaching approac

thod of teaching English as

(B) Bilingual method
(D) Direct method
hes is student-centered and

student-oriented ?

(A) Communicative approach
(C) Structural approach

The two kinds of reading skills are

(A) verbal and visual reading
(C) silent reading and reading aloud (D) all of these

(B) Situational approach
(D) All of these

(B) slow and fast reading

P.T.O.
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Which of the following is a criterion for selection of a writing task to be given to
the students to develop their writing skills ?°

(A) Interest of students ~ (B) Level of the class

(C) Both (A) and (B) (b) None of these
Multimedia resources do not include .

(A) Audio resources ° (B) Video resources

(C) Computers (D) Pens and pencils

Who has given the concept of Transformational Generative Grammar ?
(A) Edward Sapir (B) Roman Jakobson

(C) Noam Chomsky | ~ (D) Ferdinand de Saussure

Which one of the following skills uses praise words and approving statements to
motivate the students ?

(A) Response variation (B) Explaining skill
(C) Reinforcement (D) Lecturing
Measurement is a process of ..................... evall.uation.

(A) Qualitative _ - (B) Quantitative
(C) Linear (D) Unitary

Choose the correct sequence of steps in managing classroom teaching :
(A) Controlling, planning, organising, leading

(B) Leading, organising, 'con'trolling, minding

(C) Organising, contrblling, leaving alone, commanding

(D) Planning, organising, leading, controlling

The Language 'Laboratory is used for teaching

(A) Speaking skills ‘ (B) Listening skills

(C) Both (A)and (B) (D) None of these

Which of the following is not true of CCE ?

(A) It focuses on co-scholastic areas also

(B) It promotes holistic development

(C) Itis time consuming and punishing

(D) It reduces stress and anxiety of the students

Evaluation of language proficiency is done through tests designed to evaluate
which of the following skills ?

(A) Listening, Speaking, Reading and Writing

(B) Listening, Reading

(C) Speaking, Writing

(D) Writing
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SECTION - III
LANGUAGE - II
ENGLISH
There are 30 questions in all in this scction.
All questions are compulsory.

Passage ( For Q. Nos. 61-65 ) :

Kalaripayatt is a traditional art practised in Kerala. Though claims of its heavenly
origin are dlSPUtable foreign travellers mentioned Kalari being practised in Kerala as
early as the 13th century, which makes it the oldest martial art to be in existence.

Kalari is considered to be the most complete and scientific martial art and is the
mother of all martial arts. Bodhidharma, a Buddhist monk from India, introduced
Kalari into China and Japan. What makes Kalari unique is the fact that it is much
more than a martial art. A student of Kalari learns philosophy, medicine, attack and
self defence and, above all, learns how to avoid confrontations, where he has to attack
somebody or defend himself.

61. A student of Kalari learns ...... philosophy ............... attack and self
defence. '

Fill in the blanks with the help of given options :

(A) neither — nor ~ (B) either—or

(C) not only — but also " (D) as—as
62. Kalaripayatt belongs to India ........cc.oe.. Karate belongs to Japah.
(A) that ‘ '
(C) if
63. Some people still ......ccccvienne

(B) whereas
(D) when

of Kalari’s heavenly origin.
(A) claimed - (B) claims

(D) were claiming.

(C) claim

64. Kalari .......ooee .. the oldest martial art to be in existence.
(A) is ~(B) was
(C) were (D) are

65. The most suitable title for the passage is
(A) Drawing and Painting (B) Mother of all Martial Arts

(C) Table Tennis

o639 [[[ININLIINN 444 P.T.0.

(D) Lawn Tennis
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“When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

(A)  Alliteration _ (B) Pc.rsoniﬁcation

(C) Simile (D) Metaphor

What device is present in the line “If ought of oaten stop or pastoral song” ?
(A) Irony (B) Assonance

(C) Paradox o (D) Alliteration

“She was a phantom of delight.”
Which literary term is used here ?

(A) Elegy (B) Simile’

(C) Metaphor ‘ (D) Sonnet
“As green as emerald” is an example of -

(A) Allegory _ (B) Hyperbole
(C) Satire ‘ (D) Simile

“Peace hath her victories

No less renowned than wal;.”

What is personificd in these lines ?

(A) Victories : ‘ (B) Rengwned
(C) Peace , . (D) Less

“Two roads diverged in a yellow wood A

And sorry | could not travel both

And looked down one as far as I could

To where it bent in the undergrowth”

The rhyme scheme of the above lines is

(A)4 abaab (B) AAbaa

(C) ababa . (D) Abbaa
| VPP give him an answer if he had asked me.
(A) can (B) may
(C) could (D) might.

Choose the alternative which best expresses the meaning of idiom / phras
underlined in the sentence :

“] met him after a long time, but he gave me the cold shoulder.”
(A) Scolded me (B) Abused me
(C) Insulted me (D) Ignored me
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74.
75.
76.
77.
78-.

79.

80.

81.

82.

83,

" (A) Less interesting teaching style

Which literary term refers to the problem or struggle within a story ?

(f“ Contlict (B) Drama

(C) Action (D) Climax

A form of drama that is intended to amuse and that ends happily.
(A) Tragedy (B) Comedy

(C) Biography (D) Irony

‘Petrarchan’ is one of the categories of

(A) Ode | (B) Elegy

(C) Sonnet o (D) Drama

The number of pure vowels is

(A) 9 =t (B). 10
(€ 11 ' (D) 12
p,t,k,0,s, [, h, t|/ are called

(A) Voiced consonants (B) Voiceless consonants

(C) Pure vowels - : (D) Impure vowels

Choose the correct phonetic symbol for the underlined sound of the word :

Water -
(A) fwotl/ | (B) /west/
(C) /wd:td(r)/ : ' (D) /wD[ry:/
Find out the word which begins with different sound from other given words :
(A) Reach (B) Reap = '
(C) Rich (D) Read

Which of the following contains the same vowel sound ?
(B) Bill — bell — ball

(A) Bite — kite — site
(D) See — say — sick

(C) Like — look — luck

The communicative approach in teaching of English has been practised and

developed in

(A) India and China (B) India and Sri Lanka

(C) China and Japan (D) France and Britain

e is a challenge in the process of teaching English language class ?
(B) More interesting teaching style

Which on

(€) Reasonable time management (D) Good lesson preparation

o639 | [IHIIIIINL s P.T.0.
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The excéssive use of mother-tongue is

(A) helpful in learning English :

(B) achallenge to learning English

(C) a substitute of learning English

(D) none of these |

“The teathing material should be in accordance with the mental age and should
have relevance in real life situations.” The statement refers to

(A) Principle of habit formation -

. (B) Principle of selection

(C) - Principle of gradation
(D) Principle of controlled vocabulary

With ..ccovvvnnneen. students come to see the tests not as a punishment but as a
useful feedback. The classmates work together for ‘common intellectual welfare’:
(A) Self evaluation . (B) Group evaluation

(C) Peer evaluation i (D) CCE evaluation

“What do you think about the two candidates in this‘ ele(;tion ?” This is an
example of ' A

(A) Open ended question | (B) Close ended question i
(C) Both (A) and (B) | (D) None of these

Which test items consist of a stem, the correct answer, keyed alternative anc
distractors ?

(A) Diagnostic test (B) Multiple choice test

(C) Close test (D) Oral test |

The remedial English classes are very helpful for the students who are

(A) below the age of 18 years | |

(B) unable to achieve the required grades

(C) poor and can’t get formal education

(D) rich and can afford computer

Feedback is always

(A) Summative (B) Formative

(C) Annual (D) Objective
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SECTION - IV / @08 - IV

MATHEMATICS / TTfUTd
There are 30 questions in all in this section.

All questions are compulsory.

77 @ve § el 30 W ¢
it e St €

The digit form of one crore one lac one thousand one hundred and one, is

(A) 1111iiol () 10101101
. (C) 10010101 - (D) 11101001
& S @mﬁm@ﬁ@rﬂaﬁaﬁww%
(A) -~ 11111101 @~ 10101101 .
(C) 10010101 (D), 11101001
If31PS is multiple of 3, where Pis ten's digit, then the greatest value of Pis
(A 9 B . 3
() 6 | oS
uﬁslps,sﬂgm?r%,aﬁpazéaﬂaﬁ%,ﬁpmaﬁzﬁﬂm%
& 9 B) 3
c 6 D), S
value of 25+12 «33-25+51s B
1
(A) 1216 B 793
D) 239%
Hc] 416 5
25412 x33-25+5 1 A &
1
(B) 79% -
(A) 1216 5
1
(D) 2397

C) 416

saszo (NN
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The least number which is divisiﬁlc by the numbers 1 to 10 is

(A) 1680 | (B) 840

(C) 2520 (D) 5040

7 P O F B ek A 1 @ 107 A vl § fra ¥ 2
(A) 1680 ‘ (B) 840

{er 2520 | D) 5040

Muldplicatién of place .vahies of 3,. 4 and 5'in’th.e number 60321045 is équal to
(A) 60 ' | (B) . 600000

(€) 60000 . "(D) 60000000

TR 60321045 7 3, 4 7 5 3 WE T U S &

A) 60 | (B 600000

(C) 60000 \ ). 60000000

The non-terminating recurring number 0- 123 is equal to the fraction,

123 ' o4
A 1000 | (B) 333
37 ' ' 41

FAFA] el WA 0123 o R iy §

123 41
(A Tooo B) 333
37 o Al
“) 350 (D) 35
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g7. The cost of 16 coins of 50 paise is cqual to

(A) 4 coinsofRe. ] +3 coins of Rs. 2
B) 3 COiI_'lS of Rs. 2 + 8 coins of 25 paise
(C) 3 coins of Rs. 2 + 6 coins of 25 paise

(D) 2 coins of Rs, 2 + 3 coins of Re. 1

50 0% & 16 Toel =1 g s &

(A) 1@%4?&3&5«»2@7&%3@
e 26@%3&3%%2'5}3#%:81’8@?.
(C) 2’6@*3@&5@%6%
(D) 2‘6@'é§2faaéi+1m$3ﬁﬁ$

98. The right descending order of the following numbers' %"

52 3 B
A 5713 G
5 3 2 2s
© 137 o 23
ey wemail 2,-2,2 1 W STl w4 &
523 L 8
& 5713 B 3
S 3 2 D 23
© 137 D) =g
5) .
99. The value of -1—:'53-— (2% - 4-6-), is
2 B -2
(A) 0 :) =
17 17
(C) ~30 (D) 30

40390 [[LINITIINL el

oM .
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—1%—(2%—4%)Wﬂﬁ%
(A) % ®) 'T%
© -35 o 1

The greatest number which divides 244 and 7052 such that it leaves remainder

4 in each case, is
Ay 12 (B) 16
(C) 30720 (D) 15360

T8 R T FE, R 244 A 2052 F i w R e e 7 4

W &, o §E &

(A) 12 | (B) 16

(C) 30720 o (D) 15360 -

The difference between the greatest and the lowest prime numbers of two
digits is (

(A) 88 . | (B) 86

© 89 ~ D) 95

. ﬁﬁﬁaﬁm@aﬁam@aﬁmﬁmﬁw%

102.

(A) 88 MB) 86

c 8 (D) 95

If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is
(A) Rs. 1,500 o (B) Rs. 150

(C) Rs.125 (D)  Rs. 1,250

af 12 5 S 1 T 720 3 &, @t 25 A 1 T @

ﬁﬂ 1,500 %o (B) 150 Bo

e

() 125%° (D) 1,250 %o

oacso |
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¢ s left
103. The average weight of 5 students is 40 kg, If onc student of weight 50 kg has le

104.

105.

them, then the average weight of remaining students is

(A) SO kg (B) 37:5kg

(C) 30kg (D) 625 kg
smﬁmaﬁmmqomﬁmﬁmﬁ@@mmmsoﬁﬁm%,mm

%.ﬁﬁwwwwaﬁmmﬁm

(A) 50 kg B 37-5kg
(€) 30kg (D) 62-5kg

If a product is sold on 10% profit at selling price Rs. 330, then cost pﬁf!C of the
product is | |

(A)  Rs. 360 : (B) Rs. 363
(C) Rs.297 (D) Rs. 300 |
U %] 10% & @ s go 330 To W =t wirelt &, Al I TR N FG e §

(A) 360 To (B) 363 %o

(C) 297 Fo /) 300 Bo

In a school under 'shramdan’ camp, 12 students clean for 7 hours. If equal part
needs to be cleaned in 6 hours, then how many students will be required ?

(A) 14 (B) 12

© 16 D) 15
v faee | ‘ymer’ fafar & e 12m,7wmmﬁ§|a&.mﬁqm
6 A2 H A% FTAT &, fhe oTl F sireraamar gnht

o 14 B 12

C) 16 : (D) 15

saszo |ILINIIINL

P.T.O.
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. | e n years and
; 5 % for y .
106. P takes loan of Rs. 9,000 at the rate of simple interest 8 '
8 months, then total nmounl‘ to be returned by him will be

| (A) Rs. 2,040 (B)  Rs. 3,060

1 (C) Rs.11,040 (D)  Rs. 12,060

. &t 39
‘Pﬁ9.oooﬁowazws-5°/omamatm2W8W*Wmv ™

fererit Tiftr q: Fltert oot 2
(A) 2,040 - ... . (B)  3,060%0

() 11,040 %o (D) 12,060 %o

GQ A cylinder of héight 4 cm is formed after folding ( without overlapping ) a

22cm x 4 cm rectangular paper, then curved surface area of this cylinder, is
(A) 88 nmcm? " (B) 88cm?
(C) 176 ncm? " (D) 176 cm?

@22Mk4ﬁﬁmmﬁ%ﬁ(mm),W-4ﬁﬁ%
1 I TN TTGT | 3T o T Y B AR /i

(A) 88 ncm? . (B) 88cm?

(C) 176 ncm? (D) 176 cm?

sasss [HINIINI
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point O. If OE and OF arc

108. In the gi , |
given figure lines AB and CD are intersecting at

109.

angle bis .
ectors of #BOD and £ZCOB respectively, and if ZEOD = 25° then £COFis

equal to
A
‘ C
(A) 130° ' B) 65° |
(C) 105° ) . (D) 50° A " . |
e ma fa ¥ 3@ AB T cu,ﬁ-‘g'_o_q?;rﬁ-@?ﬁa"f%mﬁgEaﬂTgpm:
(—— - .
. BOD T LCOB® e & ©d df% £BOD = 257 & LCOPTT™ &
A | D
E.
F

| 65°
A)  130° (@)

D 50°
“ 102 | | )2 The distance travelled by 2 person, 11

| field 1S 6400 m*. 1he . , ,
Area of 2 square .
its perlmctcr, 1S
5 rounds on = e
(A) 320 m o 32 1o
1-6 km W
(C) . 64ooaﬁtﬁ%|@mﬁmwﬂmﬁﬁqﬁﬁﬁ
Gﬁaﬁﬁﬂlkﬂ' émﬁﬁ'
5¢ﬁmﬁﬂ13u§ﬂ

S (B) 160 m

(D) 3.2 km

| ' P.T.O.

a 3207
[é) 1-6 km
'f

. |~ Y
| @EOO

f/m/@@@w

/

sasso [N )
; ) '/_““f /__Q(J /(;\:)cli}([j)'j / /
| & | Y i [150 | ®QOQ |
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tap with speed
110} Time taken to fill a water tank of size 2 m x 1-5 m x 1 m, by a taP
\ 20 litre/minute, is

(A) 9 minutes ‘ (B) 1 hour 30 minutes

(C) 60 minutes - (D) 2 hours 30 minutes

2mx 1'5m x 1mw%mﬁ%%mﬁ@%mzoaﬁa/ﬁﬂzﬁ"ﬁﬁ“ﬁ
T @y § |

&) 9fFe | " .(B) 1 qUeT 30 e

© 60 e D) .2,@,30@:{3

111. How many bricks of measure 25 cm x 16cm x 10 cm are required to make a

wall of size 20 m long, 5 m high, 50 cm' thick, while there are two doors’ of size
2mx 1'5minthewal ? .
(A) 11750 o (B) 11000

(C) 117500 D) 97500 |
20 Hex T, 5 e St iR s0 At T AR R @ SRRt 2 WX x 15 T
T % €, T H 25 A x 16 A « 10 At T Y Feperet dt Y strarvamar @y 2

£A) 11750 _ (B) + 11000

(C) 117500 (D) 97500

112. In given figure OP| |RS, ZOPQ = 100° and ZQRS = 140°, then » POR s equal to

R___ S
140°
0 —> E
100°
Q
(A) 80° (B)  60°
(C) 70° (D)  50°

aac3o ([N



o
‘ 13¢
STL-1 51 =3
fedt m fomr o OP||RS, ZOPQ = 100° T4 £QRS = 140° Al £PQR a&R &M
R s S,
140° '
0 —> Lt
100°
Q
(A)  80° B 60
© 70 D sor
= 0-08, an

113.

114.

%630 [HIINMITIIT

For multiplication of two decimial numbers, such as 04 x 0-2

app'ropx_'iz‘:lt_g _teaching-learning tool to explain the concept is
(A)-- Dienes block . . (B) Numberchart . - .
(C) . Counting star (abacus) (D). Graph paper:

ﬁwm&ﬁwwﬁ@owoz oosﬁwaﬁvqsrr#%m?ﬁm

fereror-atfirmy @ &
(A AN wiE B) dEm
€ frFarT (s@ww) - (D) U IR
Which of the following represents 9, using tally marks ?
A WM (B) I |
(). W @ W WM
e feel &1 STa HYd g¢ Fiefad # / 39 Fe o % wefir ?
@ MoW (B) I W | -
© Wl T
444
P.T.O.
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sector, showing
115. If monthly salary of a person is Rs. 24,000, central angle of the

: ° expenditure on
the expenditure on education by pie-chart is 60°% then the €xp .

cducation is

(A)  Rs. 4,000 (B)  Rs. 8,000

(C) Rs. 3.000 (D] ‘Rs. 6,000 v
Waﬁﬁﬂméﬂzmoooxo%.mﬁmmmmﬁm-aéwm
et FowEve & Fg F07 60° €, B 3G TR W = ann

A 4,000% . (B) 8,000 %o

(C) 3,000 %o " (D) 6,000%0

116. "Mathematics is the.mif'x'or of civilization ar;d culture.” This statement is said by
(A) Bacon ‘ . (B) Berthelot |

(©) Hogbeh (D)  Bertrand Russel

“rfrer T 3R TR A ¥ 4w e R e

&) FFA B) aHdie
() @EA - . (D) WUE W

117. "The act of combining separate parts.” This method is called
(A) Analytic Method (B)  Synthetic Method
(C) Laboratory Method (D) Project Method

“ STET- 31T Wi &l S| 9 fag Seema &
" (A) ﬁ?ﬁwfaﬁl (B) e fafy

() e fafa ' (D) uftEET fafiy
94639 |[[[L1 11
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118. The maximum success of remedial teaching depends on

(A) time and duration

(B)  the correct identification of causes of problem

(C)  knowledge of linguistic rules

(D). remedial teaching materials

ITTRTeEE foreror @ waifues qoherdl PR A &

(A) THI T Ay W (BT ey % RN B WEl e W
© wwEfEE S R ® (D) SUERwEE e ae R

119. Arrange in correct order the steps of evaluation in mathematics :

1. Identification of situations

2. Selection of objectives

-3. Selection of evaluation methods

4. Interpretations of evidences

5. Constructions of evaluation devices

(A 2,1,3,5,4 ' B) 2,3,1,5,4
© 33541 D) 3,2,4,5,1
ot T edieh & [T S FEl FH T :

| R S

2. S F a

3. WWWW

4. SOOI i AT

5, Wwﬁﬁmmﬁnm |
W 21,354 B 2,3,1,5,
C) 23,541 (D) 3,2,4,5,1

9c30 | [INNINIII

444

P.T.O.
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120. A student ;vas asked to read the follovlving numbers :
- 306, 406, 408, 4020 |
He .ncads as follows :
Thirty six, forty six, forty eight, forty twenty

The reason for error in reading is that |
lass boring
(A) * the student does not like maths class and finds the cla

its use also
(B) the student has understood the concept of place value and

(C) the student is not fit for study of maths

| d feels
(D) the student is not able to understand the concept of place value an
comfortable using two-digit numbers only

et o @ At € sl ) g & o T A ¢

365, 406, 408, 4020 |

w#s%mmw

a’ma:,ﬁa:,aﬁvm,w-ﬂvah

e -

o o e o e s e sk e s o b

(B) m#mﬁhmaﬁwﬁWM%ﬁmmﬁ

(C) BT T T TeEe FRA (o0 Iuge e &

(P O e S R T ohe 58 v et st @
qgAT T Tl ¢ |

saass (I (353
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121.

122.

saeao |

55

SECTION -V / @Ug -V

ENVIRONMENTAL STUDIES / UATa¥ul eI

There are 30 questions in all in this section.

All questions are compulsory.

=7 @Ue § Sl 30 WY & |
avft e o 1

Gregor Johann Mendel researched on

(A) Drosophila (B)
(C) Garden pea | (D)
TR S AvSH A Y Y fHar o

(A) SR &)

-

L) SFEEHAXW (D)

Who was the first Indian astronaut ? ‘

(A) Kalpana Chawla (B) .

(C)- Rakesh Sharma - (D)
e v siefcer aEf 4 2
(B)

(A) FHoqAT dracl

@ s o g7l (D)

Rat

Yeast .

el X

_tﬁﬁtﬂ

Sunita Williams

Raja Cheri

- P.T.O.
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123. Which of the following forts of Rajasthan is also known as

t
(A)  Ranthambore fort (B) Mehrangarh for

(€©)  Kumbhalgarh fort (D)  Sonar fort

| s
ﬁqﬁﬁaﬁﬁﬁmq\;mgﬁﬁ'm'%mﬁsﬁmmﬁ.
(&) ToreiR g By HETg F
(©) ?‘Wﬁ?’f | D) WHAR fern

124. Water day is celebrated on
(A) 2'2_nd May (B)  22nd September

(C) 02nd February (D)  22nd March

ﬁaﬁéﬂﬁwﬁamm%?.

(&) 227 B 22 fewex
(C) 02 Rt | - O) 227

125. Which of the following enzymes is present in saliva ?
(A) Pepsin _ (B) Trypsin
(C) Lactase (D)  Ptyalin

frefefad & @ #iF-91 T=ign, 1§ 3ufes @ & ?

(A) 9 | B) feftg
(C) wHR™ | ‘ D) <rEfem

94639  [[IINITILIN | 144




126. |

127.

128.

(C) VHETAT AUETE

-

Who is the first woman of the world who climbed Mount Everest successfully

from the Kangshung side ?

(A) Bachendri Pal (B) Santosh Yadav

(C) Premlata Agrawal (D)  Arunima Sinha

R & TG W) A A TRE W WS T A e

BHE ?

(%_a@#}m B) Fam aed

(D) Iret fa

International Bio-diversity Day is celebrated on

(A) 21st May (B) ~ 23rd May

(C) 22nd May (D) 24th May

| m@ﬂﬁﬁ-ﬁﬁwﬁwﬁmﬁ#mm% ?

ay 217 (B) 237

(D) 24 'qé

L4

(C) 227

adcasting in India started in the year

Radio bro
(A) 1926 (B) 1927
(C) 1-928 (D) 1929
444 P.T.O.

oasao [N
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R | Weat yamor #t g fhw ad g8 2
(A) 1926 ~ (B 1927

(C) 1928 : (D) 1929
129. Which disease is caused by the deficiency of Vitamin-A ?
(A)  Scurvy (B)  Nightblindness

(C) Rickets . (D) Beri-beri

ﬁéﬁq—qﬁﬁ@aﬁmmﬁnm%? |
(A) _Weﬁ : (Bj T

€ Frem - ) ¥

130. Which is the biggest planet of the solar system ?
' (A) Jupiter , - (B) - Saturn -

(C) Uranus | (D) Neptune

zfnﬁﬁanasrmaaugﬁw-ﬁ%?
W T | B)

(Cc) ¥ToU ' (D) °du

oas3o [N 444
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131. Following traffic sign indicates

132.

94639 HIIIHHWIIW | Ry

RELIAE

(B)  Pedestrian crossing

(A) Cross road

(C) Railway crossing (D)  Narrow bridge

a) =R () U TR T
) TR oy G g
. . .y s
h deity (Lok Devta) of Rajasthan is known as 'Deity of camels
Which del

(B) Ramdeviji

() Gogaji
(D) Bhomia Ji

(c) Pabuijl st
% o7 A’ & AF | S !
o e FFD T
v # R
" @ TS
T
(A)
(D) siferan =i
@ T

P.T.O.

-
[0 | W@OW |
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133. 'The Wildlife Protection Act’ was cnforced in lnéia in the year
(A) 1962 (B) 1972
(C)* 1982 _ (D) 1992
A ‘5 e e s e o g 2
(A) 1962 ' B) 1972
(C) 1982 - D) 1992
134. The organisation which publishes the 'Red Data'Book' of species is
(.A) ICFRE | (B) WWF |
(c‘)' IUCN . (D) UNEP

si i 1 s 21 g’ e e b, o W §
W EHmeRE B T
@ EIWw ) Fwid

135. Who coined the term 'biodiversity' ?

(A) A.G.Tansley (B)  E. Haeckel

(C) R.H.Whittaker | (D) . W.G. Rosen
sTa-fafava (arrerRafas) v e fa o 2

R e B) 3. et

(C) 9. Uy, gefidey (D) 43"@’{. T, e

saczo (NI a4

STL-1
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136. Principle of 'Specific to G N

(A)  Inductive .mcthod (B)
(C)

Heuristic method (D)

ceneral' is used in

Synthetic mc'thod

Analytic method

'"“N“'“'“"“ﬂﬁwmﬁmfar@aﬁawsmmm% 7

(A) I fafy

‘ B

€ & Wy ffy .

137.. Ranikhet disease is associated with
(A)  Fishes , ®)

T T R T &

(a) woferd B)
@ R (D)

dyeror fafy

faryetaor fafy

Honeybees

Pigs

it

g

138. The biotic components of environment are

(A) Plants © (B)

(C) Fields (D)

TgTaTT % WA 9eE ©

(AT e (B)
() HTH (D)

Mountains

Rivers

sasas |LEINIIIIE P10
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Disadvantage of deforestaﬁon is
(A) Increase in soil erosion

(B) Decrease in soil erosion

(C) Increase in number of wildlife

(D) IncreaSt.: in rain
AR T FEROTH €
d4) TR SO 1 g
(B) T AR F F

©) . Wﬁaﬁﬁaﬁﬁmﬁqﬁg

(D) T H g

Opium is obtained from

(A) Papaver somniferum (B)
(C) Cinchona (D)

Hem frad wre et € ?'
(Ay 99IER GHETHTH - (B)

©) oM ' (D)

Aloe vera

Centella asiatica

gt T

94639 | [I[IITHLI 444
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. Select th i / '
141 ¢ feSt.lval from the following which is celebrated on the full moon of
Shravan :
(A) Diwali

(B) Holi

(€)' Maha Shivaratri (D) Raksha Bandhan

(a)  feereit " et

(B)
(C) e fraify B) & Eu
142, Sitabari fair ( Kumbha of Sahriya tribe ) is held at
(A)  Arnod — Pratapgarh
(B) Chauth ka Barwada — Sawai Madhopur -

(C) Kelwara — Baran

(D) Pushkar — Ajmer
ATl 1 Aol (Weftar Seta 1 §) ST e €, &
(4) IS - FATTE (B)  her 1 ST - T W
(2) et - ART (D) | TERY - STETR
143. State tree of Rajasthan is

(A) Khejari (B)  Neem

(C) Peepal (D)  Amaltash

sacas [N 443 o
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145.

64 | STL-1
ST 7 T J&T €
(o Gt . ® =
(© vt (D) SR
Which of the following enzymes is not secreted by pancreas ?

(A) Renin '. _ (B) Lipase

(C) Trypsin (D)  Amylase

Preafefen # @ S TR S gRT S T e € 2

@) T | . (B) =

(© fefem | . (p) UHRES

National Aquatic Animal of India is

\
= 1%

(A) Gangetic Dolphin (B) Whale

(C) Lion (D)  Chinkara
YRA T UL STelrg wyoft &

(AT T gifed B) &

© W D) famm

sasso 1IN
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146. When was Cleap India Mission launched ?

(A) 2nd Octob_er, 2013 (B)  2nd October, 2014

(€} 2nd October, 20,5 (D)  15th August, 2014
@ IR favm oy Y[ fear mar o 2

(A) 234?@“(.2913 By 2 3R, 2014

(€ 23K, 2015 (D) 15377, 2014
147. Match the following and choose the correct :
(i)  Malaria . (a) .' Entémoeba histolytica
(i)  Amoebiasis (b) Mycobacteriﬁm tuberculosis
(i) Tuberculosis (c) Plasmodium ’
(ivy Cholera (d) Vibrio cholerae :

@ G- @-@ G- - b
B) (- @-0b) (ii)-@ () -
© (- @-0 G- -«
D), (- @-@ G@-b (-

Frfefaa =i gaferd H{ T Te w1 T H |
() tlﬁﬁ'm , ) quesTHeT freiensieen |
() it . ® LIESIECH ten ayargﬁa}fgw
() & T () Wfsm |

vy BT R 5 N
A )-() ()-(a)  ()-(d)  (v)-(b)
B) (- (i)-b) Gi)-@ () -
© ()-@ (@)-b) (i)-() (iv)-(d)
D) @)-(c) G)-(@ (i) (b)) (i) - (d)

L T -

P.T.O,



J 66 STL-1
'148. The housé made of snow is known as
(A)  Igloo A (B) Rain Bascra
(C) Green house (D) Basera
TH /T T W Foedl &
# T B) & ET .
(© @ (D) T

-'149. - District of Rajasthan, which shares its boundary with maximum number of
districts in the state is
(;\) Bhilwaga - "~ (B  Ajmer’
'(G) Barmer - - (D)  Nagore

.me,ﬁm%mw%mmmmm%,%

() ierarer . (B) 3R
) W - Dy~ AFR
150. The set of clothes which are worn without stitching is
.(A)  Sari, Shirt, Cap | (B)  Turban, Sari, Kurta

(C) T-shirt, Lungi, Cap (D) Dhoti, Sari, Turban |
‘gt w1 we fae fiet weem s 8, ¥
@ W EAE AR @ o, W,

(C) W, i, At Dy i, W, T

ey I | T T





